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Cuadro 8 (continuación 6)/Table 8 (continued 6)
Cuba: tablas abreviadas de mortalidada

 Cuba: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.006 0.006  100 000   617  99 462 0.993 b 7 686 006 76.9
1 4 0.000 0.002  99 383   154  397 175 0.998 c 7 586 544 76.3
5 5 0.000 0.001  99 229   123  495 841 0.999 7 189 369 72.5

10 5 0.000 0.001  99 107   140  495 183 0.998 6 693 528 67.5
15 5 0.001 0.003  98 966   277  494 141 0.996 6 198 345 62.6
20 5 0.001 0.004  98 690   430  492 374 0.995 5 704 204 57.8
25 5 0.001 0.005  98 260   479  490 100 0.995 5 211 830 53.0
30 5 0.001 0.006  97 780   547  487 535 0.993 4 721 730 48.3
35 5 0.002 0.008  97 234   735  484 331 0.991 4 234 195 43.5
40 5 0.002 0.011  96 499  1 084  479 783 0.986 3 749 864 38.9
45 5 0.003 0.017  95 414  1 641  472 969 0.978 3 270 082 34.3
50 5 0.005 0.027  93 773  2 488  462 646 0.966 2 797 113 29.8
55 5 0.008 0.041  91 285  3 731  447 099 0.948 2 334 467 25.6
60 5 0.013 0.063  87 554  5 499  424 023 0.921 1 887 368 21.6
65 5 0.020 0.096  82 055  7 865  390 613 0.881 1 463 345 17.8
70 5 0.031 0.145  74 190  10 737  344 106 0.823 1 072 732 14.5
75 5 0.048 0.215  63 453  13 637  283 169 0.743  728 626 11.5
80 5 0.074 0.311  49 815  15 509  210 303 0.638  445 456 8.9
85 5 0.112 0.435  34 306  14 930  134 206 0.513  235 153 6.9
90 5 0.168 0.580  19 376  11 230  68 805 0.376  100 947 5.2
95 5 0.250 0.730  8 146  5 950  25 853 0.196 d  32 143 3.9

100 ω 0.349 1.000  2 196  2 196  6 289  6 289 2.9
Mujeres/Females

0 1 0.005 0.005  100 000   498  99 566 0.994 b 8 099 468 81.0
1 4 0.000 0.001  99 502   131  397 678 0.999 c 7 999 903 80.4
5 5 0.000 0.001  99 370   72  496 672 0.999 7 602 225 76.5

10 5 0.000 0.001  99 298   85  496 279 0.999 7 105 553 71.6
15 5 0.000 0.001  99 214   147  495 700 0.998 6 609 273 66.6
20 5 0.000 0.002  99 067   200  494 834 0.998 6 113 573 61.7
25 5 0.000 0.002  98 867   240  493 734 0.997 5 618 740 56.8
30 5 0.001 0.003  98 627   315  492 347 0.996 5 125 006 52.0
35 5 0.001 0.005  98 312   458  490 416 0.994 4 632 659 47.1
40 5 0.001 0.007  97 855   701  487 520 0.991 4 142 242 42.3
45 5 0.002 0.011  97 153  1 088  483 046 0.986 3 654 722 37.6
50 5 0.004 0.018  96 065  1 696  476 085 0.977 3 171 676 33.0
55 5 0.006 0.028  94 369  2 627  465 278 0.964 2 695 591 28.6
60 5 0.009 0.044  91 742  4 014  448 677 0.944 2 230 313 24.3

65 5 0.014 0.068  87 729  6 006  423 627 0.913 1 781 637 20.3

70 5 0.022 0.106  81 722  8 684  386 901 0.867 1 358 009 16.6
75 5 0.035 0.163  73 038  11 893  335 458 0.800  971 108 13.3
80 5 0.055 0.244  61 145  14 949  268 354 0.708  635 650 10.4
85 5 0.087 0.356  46 196  16 448  189 860 0.589  367 296 8.0
90 5 0.134 0.496  29 748  14 761  111 837 0.450  177 436 6.0
95 5 0.205 0.656  14 987  9 836  50 344 0.233 d  65 599 4.4

100 ω 0.338 1.000  5 151  5 151  15 254  15 254 3.0

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


